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Answer1l

XYZ is a right-angled triangle.

Diagram NOT
accurately drawn

X
2C
1.35m
Y 325m

Calculate the length of XZ.
Give your answer correct to 3 significant figures.
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Answer 2
Here is a right-angled triangle.
4 Diagram NOT
d\ accurately drawn
LD 39 cm
=
G
& 70 cm
& ,
Work out the length of AC. (F\ =y
Give your answer correct to 1 decimal place. / 7-/"/ A 4 19 IZAﬁ / H EDJ@@V‘/\
T

oF = za1+C
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A= 34+ PO 2
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Answer 3

A square ABCD, of side 8 cm, has another square, PORS, drawn inside it.
P,O,R and S are at the midpoints of each side of the square ABCD, as shown in the diagram.

A i B
NOTTO
SCALE
5 0
D R &

(a) Calculate the length of PO.

Since P and Q are the mid-points of AB and BC, respectively.

8 cm
2

Therefore, PB=BQ =
PB=BQ=4cm

In the right-angled triangle PBQ, PQ represents the hypothenuse.
Using Pythagoras’ Theorem, we can work out the length of PQ.
PQ? = PB? + QB?

PQ2=42+4?2cm?

PQ? =32 cm?

PQ=5.66cm
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Answer 4
4 Diagram NOT
O accurately drawn
b 6 cm 13 cm
B

C s
ABC is a right-angled triangle. ? T =
AC=6cm YTH A Loral Heprzam
AB =13 cm

Work out the length of BC. i A
Give your answer correct to 3 significant figures. s

137.:62_1_&1

7 af’ S P P
¢ _61 = Slies 2
Vi ra a
S _& = C
e T
Sa.ex. P I -
P
x Hv?
17 cm 25 cm
Al
R OPP
PQR is a right-angled triangle.
PR=17cm
PO=25cm
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Answer5

g NOTTO
S SCALE
Scm

xXcm

Calculate the value ofx.

The triangle is a right angle triangle, therefore we can use Pythagora’s rule to work out the
value of x.
(8cm)?= (5cm)?+(x cm)?
64 = 25 + x2
Subtract 25 from both sides of the equation.
3 =g®
Take the positive root.

X =6.24
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Answer 6

Here is a rectangle.

Diagram NOT
2cm accurately drawn

8cm / Es bt THE SAoad

The 8-sided shape below is made from 4 of these rectangles and 4 congruent right-angled

triangles.
> o
Z
Diagram NOT
accurately drawn
?\/ THA G orvAL Wrmz@m
I ) 2
.
g B
A % 2 2
a = b «c”
Work out the perimeter of the 8-sided shape.

You must show all your working.

o &
(7-—-
3 7= 47 + ¢y 10

PY(/!’( ; a}l = - <« C - % ” Q‘O

761 = QL-* ¢ = C{”% C I

>C,LI- 6{@ e 36

> = |00

X = (O
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Answer7
The diagram shows a rectangular framework.
D A y
Diagram NOT
0 s O¢ weccura‘rely drawn
O Emn
c 200 Zan :
The framework is made from 5 metal rods. (’7\ ; 7__ e e
The metal rods have a weight of 0.9 kg per metre. YTHAC ORAS I HEDIRAM
Work out the total weight of the framework. a
Give your answer, in kg, correct to 3 significant figures. I )
-
D (I)Y il 2 =
2% ST < B 2 2
& & = b ec s LS
b-0-6 —

T
R A =06 <2

=T
- < J_\

{
o= \]o‘g‘—e o
&, = LS s (fu Ans MEMMY)
b
Tom Lenét = 206 +2x2 4+ 2-08¢
T {An_s*]

» :
otaL WEGHT = 0-Ax(2+066 +2x2 + 208%)
= 6559258

1

ﬂouuoup
< 6-56 2
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Answer 8

Triangle ABC has perimeter 20 cm.

AB =7 cm.
BC=4cm,

By calculation, deduce whether triangle 4BC is a right-angled triangle.

((DW (T ( ?\/ THA Gonas THeprom |
g / 70 - C?’l’f"y L )\
a\QGM = 4&”\ j_‘—‘k—

C

b 7o
J

B lcn
et

c ABC s WeHTANGLED rﬁcﬁ [ s
THE HppTenE D at= Liec
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oo = q = g(
(ﬂl-t.cm: 714» qu: v < (6
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e
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Answer9

NOTTO
SCALE
0
0
C
6cm
4cm
P T

Two circles, centres O and C, of radius 6 cm and 4 cm respectively, touch at Q.
PT 1s a tangent to both circles.

(a) Write down the distance OC.

6 + 4

=10
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Answer 10

Here is part of a field.
Diagram NOT
~_ accurately drawn
1€~ (]
r - ?_
X 18m “
/]
11m| /A \
1 [

A
A J

10m

This part of the field is in the shape of a trapezium.
A farmer wants to put a fence all the way around the edge of this part of the field.

The farmer has 50m of fence.

Does he have enough fence? - =
You must show alliour working. ?\/T.L/A40@A§ JHeEprz
O A
2C L b L\
7 TTTTEIT Tl
(—. it R s
c 10 o = St o [
S 2 e
PY(V( a. = 15»(2 + C
[
x =7 «lo"
DC = | 2 %w0"
l(): ‘1'{”[0‘(’(%4’ }?‘1:.(.{01
= S120 . m

I\)C?‘ Crece 817 >§D;
He Tocn 't Enoucw Fence
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ABCD is a trapezium.

Diagram NOT
4 accfrately drawn
10 cm
9 cm | D
‘P
3cm
L1 =
B C ?D :@ C
AD =10 cm
AB =9 cm
DC=3cm A-.
Angle ABC = angle BCD = 90° |
O
Calculate the length of AC. q -2
Give your answer correct to 3 significant figures. _ é
A B
p M D
x R
2 z
1 o =6 +7
* 2 2
i 7.8 C o -¢
— ' — = lUO - Z é
VT hnonasg (HMA 7
T = ¢
T a
2 = CE ¥ T«
> = Bl 64
x" = 1§
2 = m = J}_-EZ Cun
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Answer 12

Here is the quadrilateral ABCD.

9.8cm Diagram NOT
A B
| accurately drawn
3.6cm
8.4cm
D
i

Angle BAD = 90° and angle BCD = 90°
AB=98cm
AD =3.6cm
BC=84cm

Calculate the length of DC.

Using Pythagoras :
DB'=9.8 + 3.6 = 109

DC = DB -BC'
DC =[1 09 -8.4'
DC =6.2 cm
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Answer13

(b) Calculate the perimeter of the triangle.

From a), we obtain that:

Xx=+6

The side of a triangle is positive value:

X=6

The perimeter represents the sum of all the sides.
P=7x+24x+ 150 cm

P=31x6+150

P=336cm
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Answer14

/i
8cm
NOTTO
SCALE
\\_ \\‘:,j’—”_,',
10cm

The diagram represents a pyramid with a square base of side 10 cm.

The diagonals AC and BD meet at M. P is vertically above M and PB = 8cm.

(a) Calculate the length of BD.

We can use Pythagoras’ whilst considering triangle DBA to find

DB? = 10% + 107

= 200

- DB = 10V2

=14.1
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A square, with sides of length xcm, is inside a circle.

Each ve‘gcx of the square is on the circumference of the circle

HEVE
The%‘fga gf the circle is 49 cm?.

Work out the value of x.

Give your answer correct to 3 significant figures.
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